EPNRRABSIEE(F 55)

i o VIR bR fT A

4\}5
I

- \.E:gsi{ (4 L4 4 > % 100 4 )
1.[A] £ SR T2 16mmPVC F 0 BAFEY 2 ERF L (HyE 0 TRE 16 0R
PVC & 8% % 2 5215 °
(A)10 (B)S8 (C)5 (D) 4
2 [AYl &2 e ppvio v f2 BBLG ?
(A) @k 4t (B) mtAis  (C) ¥ 12 (D) /it 4
3.[D) & B EFR* 2T A x’?féii?b'“r‘?
(A) 245 Pri%‘ T (B) 7 KAl f 23 (C)B@m RT3 (D)% =
4 3p 2 Hr
4. [BY%* 2 A f 425 50 20 E g £ AL 90 REFH 2
(A)15 (B)30 (C)60 (D)90
5 LA ] m-kitg v ey XE NG NF o B s FHERE7 T F >
Hgo pREEFLEREPEZ 5B TD
(A)3 (B)6 (C)9 (D)12
6. [Cli-kirsditas o T a2 ERY?
A E&%E (B) EMT# (C)v4#4%% (D)PVCE
7.[A) - S pBe 2 AT RPN R 225 T
(A) H 4p = s 5% 110V/220V  (B) = 4p = #3¢ 220V (C) = 4p= #5% 380V (D) =
Pz A 5E 220V/380V
8.[B)l-#%iz30ARRLZZE* " » B2 RERB2 B MY EE (IC) BE ? > KA?
(A)25 (B)4 (C)75 (D)10
O0.[D)YpeRfaz ARIFLiEI s 30% M TH AT mETR2AES > A?
(A)30 (B)60 (C)100 (D) 200
10. [A] oM Bap e H s * TR~ RE ~%F FE2RIERS SR D
(A) 150 (B)250 (C)350 (D) 450
11. [ D) “O"3| Rdzsh =+ » AR 5556 HvY 6 AP & °
(A)#smER (B)#H+8%E (C)damzamfE (D) dFssavic+ -]
12[D] 25 - %A -PREZFBARAT AT LEIRES P27 8E3F*
B L 4F 7
(A)1 (B)17 (C)2 (D)27
13.[ D) @& k42 & 2 p|x f5 2
(A)# =R (B) %3 2R (C) R Rl (D) TE R
14.[B] E4p220 X ~ 154 R % BAdAUTHFP > FRTTG 75% - B - RESRE
AU b AP ?

(A)2.0 (B)35 (C)55 (D)8



15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

[B) =4pz & 60 A5 (HZ)ehg BT o489+ & 5 1773rpm pF > g £ F %05 2% ?
(A)1 (B)15 (C)2 (D)27
[A] BT &2 AchEEy T 5 —“F*]’s\'_l_bt?
A TERET> B)r~ C)TER (D) I %k
[B] 4emid fﬁé%ﬂﬂﬁls\ ?
(A) 4 ~42 -8 (B)4 44 (C)é -~ ~4 (D)4 ~ 4~ 4
[A)] WEBRERE > - % 'E'J%E'L'i'}nl"‘ A P HER R FEY 15
%9
(A)9 (B)12 (C)15 (D)20
[C] - HFF S 082 1IN TE 0 ¢ v 44 vkt 5 80KW o RIE L vt
% > kVAR ?
(A)20 (B)40 (C)60 (D)80
[A)] e &tz P G E?
(A) ks E5R (B) K #5i (C) 28K E5i (D) uFR
[Blidsauxa ~BEAfMINTIEFBZERL
(A) it E5R (B) &K $54  (C) 8K E5s (D) 2w FR
[A] FuMBIE2 FRE- CPITRELS S KRUT 2
(A)30 (B)100 (C)250 (D) 300
[B) AR MRTEZ AR UTHRBRHEY ?
(A) & R# 172, (B) T ind (73, (C) TR = md (T2, (D)4 F# (72
[Cl =R BT Eiicb o p T RER {3 50?2
(A)# E#H 4 (B)#EH (C)E+ts (D)t ’iiﬁ"&

[A]l & T2ER A A2 UG hFAEFFE JRE P RHATEF A
RAR bR f i R s wwm’wn@;“ T EENE Y
= l%%%ﬁt% 2;’;:—- .

(A)— B)- (€)= D=



